Chloroethane
Response Ratio
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Response = 8.860e-001 * Amt + 5.591e-002
Coef of Det (r®2) = 0.996740 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA X\Method\82X091922W.M
Calibration Table Last Updated: Tue Sep 20 09:45:29 2022



Hexachlorobutadiene
Response Ratio

(0 4 \ \

0 0.5 1
Concentration Ratio

R = -6.970e-002 A*A + 3.970e-001 A + 5.986e-003

Coef of Det (r"2) = 0.998772 Curve Fit: Quadratic

Method Name: Z:\voasrv\HPCHEM1\MSVOA X\Method\82X091922W.M
Calibration Table Last Updated: Tue Sep 20 09:45:29 2022



1,1,1,2-Tetrachloroethane
Response Ratio

0 I I I I

0 0.5 1 1.5 2
Concentration Ratio

Response = 5.563e-001 * Amt
RF Rel Std Dev = 3.735% Curve Fit: Avg RF
Method Name: Z:\voasrv\HPCHEM1\MSVOA X\Method\82X091922W.M
Calibration Table Last Updated: Tue Sep 20 09:45:29 2022



Tetrachloroethene
Response Ratio

1.1+

0 I I I

0 0.5 1 1.5
Concentration Ratio

Response = 6.006e-001 * Amt
RF Rel Std Dev = 8.069% Curve Fit: Avg RF
Method Name: Z:\voasrv\HPCHEM1\MSVOA X\Method\82X091922W.M
Calibration Table Last Updated: Tue Sep 20 09:45:29 2022



Dibromofluoromethane
Response Ratio

O 4 I I l
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Concentration Ratio

Response = 5.093e-001 * Amt + 7.494e-003
Coef of Det (r®2) = 0.999651 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA X\Method\82X091922W.M
Calibration Table Last Updated: Tue Sep 20 09:45:29 2022



1,2-Dichloroethane-d4
Response Ratio

o® I I l

0 0.2 0.4 0.6
Concentration Ratio

Response = 8.989e-001 * Amt + 1.980e-002
Coef of Det (r®2) = 0.998861  Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA X\Method\82X091922W.M
Calibration Table Last Updated: Tue Sep 20 09:45:29 2022



Methylene Chloride
Response Ratio

0-e \ \

0 0.5 1
Concentration Ratio

Response = 7.809e-001 * Amt + 3.831e-002
Coef of Det (r®2) = 0.998624  Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA X\Method\82X091922W.M
Calibration Table Last Updated: Tue Sep 20 09:45:29 2022



Acetone

Response Ratio
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Concentration Ratio

Response = 3.429e-001 * Amt + 9.906e-002
Coef of Det (r”®2) = 0.996478 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA X\Method\82X091922W.M
Calibration Table Last Updated: Tue Sep 20 09:45:29 2022



Acrolein
Response Ratio

O 4 I I l

0 2 4 6
Concentration Ratio

Response = 9.496e-002 * Amt + 2.300e-002
Coef of Det (r®2) = 0.999258 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA X\Method\82X091922W.M
Calibration Table Last Updated: Tue Sep 20 09:45:29 2022
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Tert butyl alcohol
Response Ratio

O 4 I I l

0 2 4 6
Concentration Ratio

Response = 1.687e-001 * Amt + 1.243e-001
Coef of Det (r®2) = 0.995907 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA X\Method\82X091922W.M
Calibration Table Last Updated: Tue Sep 20 09:45:29 2022
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